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General Instructions to the Candidate :
33 @%ﬁ%%oﬁw WD 34 [3NPI) JROOTD. PN-A VD WPn-B NE LIRRORT.
3 3 o Q - =8
Wen-ASE Employability skills7i F0W0QAT @%ﬁ@d%, WR-BIY D08 30%@@5%
ROWORAT T3 NYTIT.

This Question Paper consists of 34 questions including Part-A and Part-B. Part-A
consists of questions related to the Employability skills and Part-B consists of the

questions related to Information Technology.

BIROR FRLITOR REWSRYRY, WO

Follow the instructions given against the questions.

WO mﬁd@qé@&i&d Clel:Tat=b) @%ﬁ@ﬁd&ﬁ Sphota ef)osﬁ@;aigt BReOROZE.

Figures in the right hand margin indicate maximum marks for the question.

®,3 38,3030, WRBRFLO 15 QORNT FoRTTR) Fe0TOZ, YVZOFLI INDTRIOT
AROCDTR), T,3 08,3030 RoeNT, VETONG.
2R/ ir<} % e

The maximum time to answer the paper is given at the top of the question paper. It

includes 15 minutes for reading the question paper.
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II.

III.

IV.

PART - A

Four alternatives are given for each of the following questions / incomplete

statements. Choose the correct alternative and write the complete answer

along with its question number and alphabet : 3xXx1=3
1. Senders send their messages by the action of

(A) Gestures (B) Reading

(C) Speaking (D) Writing
2. Choose the correct example for strength.

(A) Laziness

(B) Confidence

(C) Fear

(D) Difficult to solve mathematical problems
3. Our emotional mental, physical and social reaction to any perceived

demands or threats is known as

(A) Emotion

(B) Stress

(C) Motivation

(D) Confidence
Answer the following questions : 2x1=2
4. Give any one advice to protect life below water.
5. What is meant by time management ?
Answer the following questions : 2x2=4
6. Write any four qualities of a successful entrepreneur.
7. What measures do you take to protect your data from theft or virus ?

OR

Why is it necessary to back up data ?
Answer the following question : 1x3=3
8. Explain the ways to overcome barriers to effective communication.
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PART - B
V. 83 39ns @%ﬁ@ﬁ BT LT[R JeLINOR T, 303%71@;&1{ NBRNT. ORYNSY. m%

BATINT LVZTZ) O, T §,[RFTHRONR FREdE LT[R W30 17 X 1 =7
Four alternatives are given for each of the following questions / incomplete

statements. Choose the correct alternative and write the complete answer
along with its question number and alphabet :

9. R P SNY, TRITN 11REORIW WIT ST 8E,B/I), St FTODMITTI
(A) & e INTE (B) 083T° 03°F
(C) BT’ (D)  «02IReONE

The text or image which appears faintly in the background of page is called
(A) Trademark (B) Watermark
(C) Copyright (D) Embossing
10. R38R, T5om*F ©0d 00T, A3, CRRRPBWTBITE O
(A) deest (B) ww:
(C) e (D) oBRE
Macro-recording option can be enabled from the menu
(A) Sheet (B) Tools
(C) Data (D) Window

11. BOWLRT NBOTZIFOIRY, VBT DR [RBWBOWI
(A) DT WPFHT
(B) WROWYETITTO DTFFOTE,
(C) 22T J03T %ww)TO WSBTTTT
(D) @)oo WPFTOT0

Shared spreadsheet can be edited by
(A) Single user

(B) Multiple users simultaneously
(C) One after the other user

(D) Two users
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86-EK (Level-2) 4
12. @é%&ﬁ@?@;ﬁ (@ﬁ)?gdorﬁ) Beedex® @mq BT00E0 WPROT T BEF 0O

(A) Ctrl+D (B) Ctrl+E
(C) Ctrl+F (D) Ctrl+ 0O
The shortcut key to open an existing database is
(A) Ctrl+D (B) Ctrl+E

(C) Ctrl+F (D) Ctrl+ 0O
13. BeERUWEATIOT TSNS T

(a) 3.0 (B) Opeess
(C) e, (D) Fo=FE

A question asked from a database is
(A) Query (B) Report

(C) Field (D) Form
14. @Qj@smomo@m BR&END

(4) e (B) &8R,8°
-2

(©) 8@8% IS (D) Swm's

The details associated with an entity are

(A) Tables (B) Attributes

(C) Registrations (D) Records

15. Q€03 pH BPOT[IY, DF e 80300 GUTOIRENTIT D503
(A) TOR2030AT (B) 23; 3
(C) PeT (D) O3R0&,T
The analysis used to measure pH value of water is
(A) Chemical (B) Biological

(C) Physical (D) Mechanical
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VI. ARFHTE 030003 T ﬁ@@dﬁ%{ WP R[PR ¢

4x1=4

Fill in the blanks with suitable answer.

16. JPEG 3 Q3 3dfaw ................

The expanded from of JPEG is .......c.ccceeenenee. .
17. QN30ZTSOD %@6 e‘bgd%ofm ................. .

The file extension of spreadsheet is ...........c..cec...... .

18. &3eoe® 8:93% DT BT ToLF FFES

The shortcut key to save a table is ...........c.......... .

Qo owamézﬁ

19. ¢PET STOIMNE ooevvvneiinnen

Physical hazards occur due to ..........c.............

VII. 20.

Aw&éoﬁo@) QRGF WRED mmmfm 3R B-wé.%odo@ WL, —571%'350 QeTESRINT.

SRR, BROD LOITRYRY 3,BRISEAARS LS0u0:

4xXx1=4

The various forms of data are given in Column-A and their data types
are given in Column-B. Match them and write answers with alphabet :

A-TE3
Column-A
i) mémase (&DID)
Numeric data
ii) @@Jﬁfaﬁméﬁe T3
Alpﬁanumeric data
iii) 2:2556 TOLD
Binary data
iv)  CEeE S0 W WL

Date and time data

B-3T&3
eJ
Column-B
mﬂ UG%D&UG
VARCHAR
R3S Yot
Digital image
V&3
ed
Entity
50935
Number
TOLID DB
Data model
%556 apleled
eJd
Time stamp

300 8¢d
Primary key
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VIIL 32 3¢NS T,3nent wvgon 4x1=4
Answer the following questions :
21. QFTOROFET @?}2{ 239,83, QA
Define fill format.

22. @p@ﬁ@q:ﬂ&ﬂi@@&@s %Dworw@t 23O00.

Write the function of sub-total in Calc.

23. RDBMS 6:952{ FOTIERTRTO O33TV ?

Who invented RDBMS ?
24. ‘e953003 mws& 29,809, AR

Define the term ‘hazard’.

IX. :3NTI,3n0R 000N 4x2=8

Answer the following questions :

25. O BReR JUTBADRE INF IAFTT FONTRY LTWO.

Write the different categories of styles in LibreOffice writer.

26. OY, ©ex* GrT'IQ, TFaw’s 28e0tT’S BOBFRY, LITA0.

Write the steps for record change in LibreOffice writer.

9559 [ OR

TBYFOE DY, W, N WOT* T, DGO WFA M), V00T 288,:3), FeOROI
TOTNFR), WICW0.

Write the steps to insert an image from the gallery using drag & drop

method in a document.
27. Teaiwds, T &SRS, %Uotﬁ%ﬁ@s mmmcs@s% QDA

Explain the Hierarchical data model with schematic diagram.

28. O, BQA'TY, 13T, WOTIMOE, RTAOT TOBNTR, WICW0.

0

Write various steps for resizing an image in LibreOffice.
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X. @:39nsI3ned wwgon 3x3=9

Answer the following questions :
29. OY, wRex ZuU'RY, ST TWIETTEI[IY, VOI0ERT CIRYTHTIR  TWRTO
REOTFNIFTY, DIOR.

Explain any three settings which control the positioning of an image in

LibreOffice writer.

30. T32,0000M° &5 9T MOOF) BRI TOSNYIY, DTOX.

Explain the steps for grouping drawing objects.

31. %DOSJF%@CSQ 53?33056 m_)m@}?sé’oim% QDTOX.
Explain the importance of cleanliness at workplace.
95550 [ OR
ROTFZD WRMEARLICI FOSOTIT 05 BRWINTR), T[N E.

List out the safety guidelines for checklist.

XI. 3:¥ENIT,3nen wv3on : 3x4=12
Answer the following questions :
32. B8 IINT F,3,000NY BOINTIY LD :
i) TRE'r IR
i) O [IRERC
Write the steps for the following processes :
i) Record Macro

ii) Run Macro

9559 [ OR
T, & S WL - 9F° - TOITE meﬁg{ WSRORD m@mfmq TO00.

Write the steps used for what-if-analysis tool in Calc.
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33. Qe 20T FOTA0DE BT AT LR TORTIN LI B3 3@??\3@?@&3& NWOX

) QY WY FOTOD w@é@mdd@t 2wOTe  TRO0RTE @3@3@@50333%
WSROTOS BRTLICR0. QTS Ten BRTOND ? Qwd TOBNTTY WBOWD.

i) WPETITOOT LBOTTZYONG BRET ucﬁm@%mf@{ TETY FOWOREROIVND ?
©TT TOBRTS) WTCA0.

Imagine that you are working in a company. Explain the following :

i) You are asked to allow all the users of your company to work on the
same spreadsheet at the same time. How do you do it ? Write the
steps.

ii) How do you track the changes done by your employees to the
spreadsheet ? Write the procedure for the same.

34. FOWIFIY SO0IONT WEH), WHBIRT TOSNFR), WTOR.
Explain the steps to change the background colour in the form.
95550 [ OR
Gspovekaat 56655% %eoxO= 5037’1%55%{ QDR0A.

Explain the steps for adding text to the form.




